PRACTICAL WORK SOLUTIONS
SENIORS
Task 1
24-29 ha = 40 points; 
22-23 ha = 30 points; 30-31 ha = 30 points; 
20-22 ha = 20 points; 32-33 ha = 20 points
Task 2
127-131° = 50 points; 307-311° = 50 points;
123-126° = 40 points; 132-135° = 40 points; 303-306° = 40 points; 312-315° = 40 points
118-122° = 30 points; 136-140° = 30 points; 298-302° = 30 points; 316-320° = 30 points
Task 3
Construction of the road bridge = 30 points
Building settlement; Construction of buildings and roads; Sand quarry = 15 points 
Task 4
Swamp or marsh = 30 points
Forest; trees = 20 points
Task 5
Construction material extraction site = 30 points
Task 6
Manmade tree plantations (afforestation, forest management) (Poplar tree - Poplus) – differences between aerial imagery from year 2010 and 2019 show that trees are cut/exploited, and regrown. = 30 points
Forest = 10 points
Task 7
Floating houses and houses on mainland are most commonly used for leisure and weekend tourism. = 30 points
Residential; fishing = 10 points
Task 8-11 (4x40 points)
Strengths 
Location (close to Serbian capital centre); Good land traffic connection; Accessible coast; Navigable river; Forest percentage; Lack of overpopulated areas in close surrounding; Existence of tourist facilities (other correct and creative answers will be taken into account).
Weaknesses
Lack of clean/drinkable water; Lack of sewage system; Air quality (dust problem); Aestethic problem (weekend houses change the apperiance of the coast); Land degradation due to sand and gravel exploitation; Sava River water quality; Unregulated coast (other correct and creative answers will be taken into account).
Opportunities
Increase the usage of renewable energy (solar and hydro); Improvement of clean (drinkable) water system;Sewage systemdevelopment;Waste management systemimprovement;Sports and recreation zone development; Coast regulation; Infrastructure improvement (other correct and creative answers will be taken into account).
Threats
Flood risk; Risk of upstream water pollution; Risk of bridges failure; Risk of major traffic accidents including hazardous material transport; Increase of sand exploitation area; Risk of accident due to sand overexploitation; Overcrowding due to houses number increase (other correct and creative answers will be taken into account).
2 correct answers = 40 points
1 correct and 1 partily correct answer = 30 points
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